%

& IO HOHE 2020 4 (HF124) 8 A 25 H (k)

MWL 0|
% S lE

S = “'"Eg
ML Q'
T 43 -
A ) HE

%S Jdx
mm+CMM &
A

o R
Do IHIRQVOR
NEMIH LS UMY
VIIRIFIRIE SR

LM #eJSmity
Vi ERHY BE
TRER KV IR
W ENRRVEHRS
PEAIROOVUKHEQ
O FIRQIPKHH
N2 Q" ) IREITRE
TR L1 AURICA)
By MPLHNTIANY
OO M-3Ry
BQRLNERWVEY
A IR BEVERDS
HROLQW #3d | Y
SR S X

B=eRREFVOME
RS

BUBERQOQRE =

EULEORRRLK

PR R e R PN
WiRon@{ga)” $RRIQ
RAHKRERQOSH
*90
WODLEOERQ |

WEKESRNEO VS QW0 D=8~ RV T IRENEER

Pt

VY CHORT MUK REBRELHE SVELHR

EORK OREIN O R
DY INBEKIHQ IR
W HHQERI I
W<ARER OV S #P
2° DU NTDN
ey FORN SV S 1 F YN
QE RNV BX
FO MR BN ©
LB BEIRY
SHKIVEHOLKE
SELWY AT DA
NS IRV
< & S0 ORI
QO IHOHITE
N DN RYTR4KEE
S ERBHRE S 29
DA WEHIYQ
E IR QERNWE

) 245 O 44D @A60Y

A cEMAHOREN

HERNEQUAUPKR
EREY
QE=QKEQ | N

GE) #2757 LORF,
TTAREBR2ELEDHD

EAREORS
252%
FIE s

Omaz
[ aky -@ag

57.7%

56.6%

EREERTHOBHAAEE (20195 )

S B
-
a

130%
eI

e <AL R Y
VEINSRS
B BLUR
£ VO BE=Q
£ I @R
L0 Rl
Q<mEIIAD

WHRKRIED
2 VEEUR B

BT

egTh

AR, AL EE AR

R

G
=
)
&
L
g
+

EaY

REE PR

AL

aLA S = GE
BHKEEQ
< KPR

AA
2,000
1,500
1,000

500

o | JBRERR
QR K

WIS,

K IHXERS © 4
IKER) SR CUERR LD
MK AR
Wi w4 [ DER
Y REQHKERVS
QE= W IR QRE
KK S JEOMR”
D—NKRNJILEEVEK
Qndfen” By 2
B0 YSRAKQHE
80 ELTEVERO
eI EQEVS AQPORY
 TIRNERUQRLIT
QL SERW O
N\°

MRV YQEK
DR EKLS
797 EERN G — R (=~
o) GRRIQKELSN
— NN RN XA
—ONAX IR B
HONXN —RIQ08
27 AOHNESRI
HEEQX KA EROE
X4 RHQY OV
PBORKHIKBENEK

ARSI

CEQTIORNT A
Wit” L. Q& QeiN[E
S CREE B el
WERNI< QIR
Ao D4 HER
AN © 59" VIR
o DD LB S
HP® D — LI
RN TR OV K
ESENREY DY
A —NEZ—NRER
JONXN—DN—LVE
NV IJADIT Y D0\
B=Q+002" YANN
SO PRRYROLS
O RHENEQR BR
L& XHBG—2\HBIWIK
B JHE 0" RR4EE
RIJQ% £ 01E”
WINTDLE 2 QWIS LY

[KE®IT (8RR b]W)]
o IR TR SR 2K
T, SIEER H RN X R R
i JHER ERE IR 1O

OHNRT B HIINN
NNERMIQP LT
HERI VR LY
BV INREHNE R
MA TR VB S 4
0 WQERLT M
REREKE R
BFEVERY unoY
BRNQRO LR
AL OV A/ AR
Wi #h " HEHK |
LM NS VNR R IH
QYWY TIANRANR
FHIRER 87207 T
NN NTDNLQHKIR
JJENR RE N O
1 B=QREREV
VRFEHRKMR WL
VAL L AUE
LAt |
(MTREIELEE ) |
| RIS EK=

1O LB=HSIRIR SR




